THREE VILLAGE CENTRAL SCHOOL DISTRICT OF **BROOKHAVEN AND SMITHTOWN**

MEETING OF THE BOARD OF EDUCATION APRIL 10, 2019

Meeting of the Board of Education of the Three Village Central School District of Brookhaven and Smithtown held at the North Country Administration Center, 100 Suffolk Avenue, Stony Brook, New York 11790 on April 10, 2019 at 6:30 p.m.

William F. Connors Jr., President Members present:

Irene Gische, Vice President Deanna Bavlnka, Trustee Inger Germano, Trustee Jeffrey Kerman, Trustee Jonathan Kornreich, Trustee Angelique Ragolia, Trustee

Members absent: All were present

Also present: Cheryl Pedisich, Superintendent

> Jeffrey Carlson, Assistant Superintendent for Business Services Kevin Scanlon, Assistant Superintendent for Educational Services Gary Dabrusky, Assistant Superintendent for Human Resources

Kathleen Sampogna, District Clerk

Lauren Walters, Student Representative to the Board

Visitors

CALL TO ORDER

Mr. Connors called the meeting to order at 6:30 p.m.

MOVE INTO **EXECUTIVE SESSION**

On motion by Dr. Kerman, seconded by Mrs. Gische, and carried by a 7-0-0 vote, the Board moved immediately into Executive Session in accordance with Open Meeting Law to discuss

the employment history of a particular person(s) and current litigation.

RECONVENE INTO PUBLIC **SESSION**

The meeting reconvened into open session at 7:35 p.m. Mrs. Pedisich led the pledge of allegiance.

CHANGES IN THE MEETING **AGENDA**

Replacement Pages

Item G1 – Instructional Personnel – Schedules A.2 and A.13

STUDENT AND

STAFF RECOGNITION Cathy Duffy presented certificates to poetry contest winners from Murphy Junior High School. Paul Gold presented certificates to Geography Bee winners from Gelinas and Murphy Junior

High Schools.

James O'Hagan, Director of Facilities was recognized for being named an Administrator of the Year by the Council of Administrators and Supervisors.

MINUTES

Minutes of March 27, 2019

Be it RESOLVED that the Board of Education accept the minutes of the March 27, 2019

meeting, as presented.

On motion by Mrs. Gische, seconded by Dr. Kerman, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

REPORTS

Student Representative Report

Lauren Walters reported on student events, including a Student Government Town Hall and a

Leadership Development trip to Washington D.C.

ITEMS FOR BOARD DISCUSSION

Proposed 2019-2020 Budget Mr. Carlson reviewed the proposed 2019-2020 Budget.

ADOPTION OF 2019-2020 RECOMMENDED BUDGET AND PROPERTY TAX REPORT CARD Upon recommendation of the Superintendent of Schools, be it RESOLVED that a budget in the amount of \$215,075,416 be adopted for the 2019-2020 school year.

Be it further RESOLVED that the Property Tax Report Card for the 2019-2020 school year be approved.

On motion by Dr. Kerman, seconded by Mrs. Gische, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

ITEMS FOR BOARD ACTION

Revised Notice of Public Hearing, Budget Vote and Election Be it RESOLVED that the Board of Education hereby authorizes the District Clerk to prepare and publish the attached revised Notice of Public Hearing for the Annual Budget Vote and School Board Election to be held on Tuesday, May 21, 2019 to correct the location of the May 8, 2019 Public hearing to the cafeteria at Murphy Junior High School, 351 Oxhead Road, Stony Brook, New York.

On motion by Mrs. Gische, seconded by Mr. Kornreich, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Personnel Action

– Education Law
§913 Examination
of Employee "A"

RESOLVED that the Board of Education hereby appoints Dr. Michael Schwartz as a District medical consultant pursuant to §913 of the New York State Education Law in order to perform a follow-up evaluation of the fitness of the employee named in confidential schedule "A" to perform his duties; and

Be it RESOLVED that pursuant to §913 of the New York State Education Law, the Board of Education directs the employee named in confidential schedule "A", to appear for a medical examination in the office of Dr. Michael Schwartz at a date and time to be determined.

On motion by Mrs. Gische, seconded by Mr. Kornreich, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Approval of Agreement for Professional Development by State University of New York, Stony Brook RESOLVED, that upon the recommendation of the Superintendent of Schools, the Board of Education hereby approves the Agreement between the Three Village Central School District and the State University of New York at Stony Brook, School of Professional Development, to provide a training program in the area of the NYSED Autism Workshop. Appointment is effective April 1, 2019 through December 31, 2019.

On motion by Mr. Kornreich, seconded by Mrs. Gische, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Personnel Matters

Instructional

Upon the recommendation of the Superintendent of Schools be it RESOLVED that the Three Village Board of Education approve the instructional personnel items as described in the schedules listed below:

RETIREMENT

<u>Name</u>	School/ Assignment	Effective Date	Date of Hire
Lauri, Deborah	Murphy JHS/ English Teacher	6/30/19	9/1/85

RESIGNATIONS

<u>Name</u>	School/ Assignment	Effective Date	Date of Hire
Biscari, Brian	Minnesauke/ Elementary	6/30/19	8/22/11
DiBernardo, Tara	Principal Minnesauke/ Physical	6/30/19	8/31/11
Ippolito, Amy	Education Teacher Ward Melville HS/ Special	6/30/19	9/1/16
Pust Panas	Education Teacher	6/30/19	8/30/17
Rust, Renee	Arrowhead/ Special Education Teacher	0/30/19	0/30/17

APPOINTMENTS TO SUBSTITUTE TEACHER/NURSE/PARAPROFESSIONAL/ TEACHING ASSISTANT POSITIONS

Substitute Teacher

Maurer, Alan

Mr. Maurer is the brother of Nancy Murolo, Assistive Technology Teacher at the North Country Administration Building.

Fingerprint clearance has been received.

Substitute Teaching Assistant

Anderson, Lauren

Ms. Anderson is resigning from her monitor position at Setauket Elementary School and has asked to be added to the substitute Teaching Assistant list. Fingerprint clearance is on file.

Celebucki, Louise

Last Name

Ms. Celebucki is currently a substitute teacher and has received her TA certification. Fingerprint clearance is on file.

APPOINTMENTS OF SPRING COACH POSITIONS

<u>Last</u> <u>Name</u>	First Name	Building	Assign- ment	<u>Effective</u>	<u>Step</u>	Year at	Total Years	Stipend	<u>Status</u>	<u>Dates</u>
Capan- zano	Jared	Gelinas	Boys Track & Field Assistant	Spring	2	Step 1	3	\$3,971.82	Out Of District	4/1/19 - 6/7/19

Supervision Rate: \$28.47 /hr prior to 6:00 p.m. \$42.71 /hr after 6:00 p.m. and on days school is closed

Assignment

Scoreboard Timer: \$109.37 p. contest

First

All other times/scorers receive supervision pay rate

Building

APPOINTMENTS OF ANNUAL EXTRA ASSIGNMENTS

Effective

Stipend

Not to

	Name						Exceed		
Lasser IV	Louis	Gelinas	Theatre Arts- Choreographer	1/16/19-3/23	/19 \$2,000.	00	\$2,000.00		
APPOINTMENTS OF HOURLY EXTRA ASSIGNMENTS									
<u>Last Name</u>	First Name	Building	Assignment	<u>Effective</u>	<u>Rate</u>	<u>Hours</u>	Not to Exceed		
Serigano	Jennifer	WMHS	Science Olympiad Saturday Practices, additional hours	2/23- 6/14/19	\$43.61/hr	36	\$1,569.96		
Tunkel	Vinny	WMHS	Accompanist for Spring Concerts at Gelinas	5/22,5/23 5/30/19	\$150/ per concert	4 concerts	\$600.00		
*Vonnes	Carol	WMHS	DECA State Competition - Rochester, NY	3/5-3/8/19	\$150/Night \$300/Day	3 Nights, 3 Days	\$1,350.00		
***Ms. Vonne	s was previo	ously approved	1 3/13/19 for 3 nights -	adjustment to in	nclude 3 days.	j -			
Shook	Heather	District- wide	Special Education Trainer for SACC Program	4/11/19- 6/30/19	\$56.75/hr		\$1,000.00		
Shook	Heather	District- wide	Special Education Trainer for SACC Program	2019-2020	\$57.32/hr		\$1,500.00		
West	Danielle	District- wide	Special Education Trainer for SACC Program	4/11/19- 6/30/19	\$56.75/hr		\$1,000.00		

West	Danielle	District- wide	Special Education Trainer for SACC Program	2019-2020	\$57.32/hr		\$1,500.00		
*Knox	Betsy	Murphy	Google Tips and Hints	11/28/18- 3/13/19	\$49.07/hr	8	\$392.56		
*McGuire	Sue	Murphy	Google Tips and Hints	11/28/18- 3/13/19	\$49.07/hr	6	\$294.42		
*Hughes	Julie	Murphy	Google Tips and Hints	11/28/18- 3/13/19	\$49.07/hr	6	\$294.42		
*Propper	Kimberly	Murphy	Google Tips and	11/28/18-	\$49.07/hr	6	\$294.42		
*Tavitian	Michael	Murphy	Hints Google Tips and	3/13/19 11/28/18-	\$49.07/hr	6	\$294.42		
*Strub	John	Murphy	Hints Google Tips and	3/13/19 11/28/18-	\$49.07/hr	6	\$294.42		
*Martellaro	Brenda	Murphy	Hints Google Tips and	3/13/19 11/28/18-	\$49.07/hr	6	\$294.42		
*Nachtigal	Dawn	Murphy	Hints Google Tips and	3/13/19 11/28/18-	\$49.07/hr	6	\$294.42		
*Keenan	Susan	Murphy	Hints Google Tips and	3/13/19 11/28/18-	\$49.07/hr	6	\$294.42		
*Beauchamp	Tracy	Murphy	Hints Google Tips and	3/13/19 11/28/18-	\$49.07/hr	6	\$294.42		
**These assign	ments were B	OE approved	Hints I on 1/16/19. This is a	3/13/19 correction to the	ne dates.				
Rogers	Steve	WMHS	First Robotics,	3/30/2019	\$300/day	1 day	\$300.00		
Williams	John	WMHS	Hofstra- Chaperone First Robotics, Hofstra-	3/30/2019	\$300/day	1 day	\$300.00		
			Chaperone						
PD Courses:									
Tunkel	Vinny	WMHS	Introduction to G- Suite	2018-2019	\$76.23/hr.	5	\$381.15		
Bayles	Tanya	WMHS	Introduction to G- Suite	2018-2019	\$76.23/hr.	3	\$228.69		
Panuccio	Debbie	WMHS	Introduction to G- Suite	2018-2019	\$76.23/hr.	3	\$228.69		
Viviano	Theresa	WMHS	Introduction to G- Suite	2018-2019	\$76.23/hr.	3	\$228.69		
Cowan	Kerry	WMHS	Reading and Writing: Strategies to Improve Critical	2019-2020	\$76.99/hr.	17	\$1,308.83		
Casadei- Berwind	Daniela	WMHS	Thinking Reading and Writing: Strategies to Improve Critical	2019-2020	\$76.99/hr.	15	\$1,154.85		
Cloonan	Katherine	WMHS	Thinking Reading and Writing: Strategies to Improve Critical	2019-2020	\$76.99/hr.	15	\$1,154.85		
Metrio	Jessica	WMHS	Thinking Reading and Writing: Strategies to Improve Critical	2019-2020	\$76.99/hr.	15	\$1,154.85		
Viviano	Theresa	WMHS	Thinking Reading and Writing: Strategies to Improve Critical Thinking	2019-2020	\$76.99/hr.	15	\$1,154.85		
Lombardo	Jeanine	Setauket	Saan Itl OP Codes	2018-2019	\$76.23/hr.	5	\$381.15		
			Scan It! QR Codes in the Classroom!						
Johnson	Suzanne	Setauket	Scan It! QR Codes in the Classroom!	2018-2019	\$76.23/hr.	3	\$228.69		
Cowan	Kerry	WMHS	Teaching and	2019-2020	\$76.99/hr.	17	\$1,308.83		
Metrio	Jessica	WMHS	Writing Teaching and	2019-2020	\$76.99/hr.	15	\$1,154.85		
Shaw	Jacqueline	Gelinas	Writing Twice	2018-2019	\$76.23/hr.	5	\$381.15		
Archer	Susan	Gelinas	Exceptionality: What it Is and How to Identify and Meet the Needs of Twice- Exceptional Students in the Classroom Twice Exceptionality: What it Is and	2018-2019	\$76.23/hr.	3	\$228.69		
			How to Identify and Meet the Needs of Twice- Exceptional Students in the Classroom						

Careccia	Lesa	Gelinas	Twice Exceptionality: What it Is and How to Identify and Meet the Needs of Twice- Exceptional Students in the Classroom	2018-2019	\$76.23/hr.	3	\$228.69
Cloonan	Katherine	Gelinas	Twice Exceptionality: What it Is and How to Identify and Meet the Needs of Twice- Exceptional Students in the Classroom	2018-2019	\$76.23/hr.	3	\$228.69
Diane	Kerry	Gelinas	Twice Exceptionality: What it Is and How to Identify and Meet the Needs of Twice- Exceptional Students in the Classroom	2018-2019	\$76.23/hr.	3	\$228.69
Lewis	Patricia	Gelinas	Twice Exceptionality: What it Is and How to Identify and Meet the Needs of Twice- Exceptional Students in the Classroom	2018-2019	\$76.23/hr.	3	\$228.69
Megara	Michelle	Gelinas	Twice Exceptionality: What it Is and How to Identify and Meet the Needs of Twice- Exceptional Students in the Classroom	2018-2019	\$76.23/hr.	3	\$228.69
Milillo	Michael	Gelinas	Twice Exceptionality: What it Is and How to Identify and Meet the Needs of Twice- Exceptional Students in the Classroom	2018-2019	\$76.23/hr.	3	\$228.69
Viviano	Theresa	Gelinas	Twice Exceptionality: What it Is and How to Identify and Meet the Needs of Twice- Exceptional Students in the Classroom	2018-2019	\$76.23/hr.	3	\$228.69
McNaughton	Kayla	Setauket	Utilizing Social Media in the Classroom	2018-2019	\$76.23/hr.	5	\$381.15
Bayles	Tanya	Setauket	Utilizing Social Media in the Classroom	2018-2019	\$76.23/hr.	3	\$228.69
Careccia	Lesa	Setauket	Utilizing Social Media in the Classroom	2018-2019	\$76.23/hr.	3	\$228.69
Casadei- Berwind	Daniela	Setauket	Utilizing Social Media in the Classroom	2018-2019	\$76.23/hr.	3	\$228.69
Cloonan	Katherine	Setauket	Utilizing Social Media in the Classroom	2018-2019	\$76.23/hr.	3	\$228.69
Cooper	Allison	Setauket	Utilizing Social Media in the Classroom	2018-2019	\$76.23/hr.	3	\$228.69
Curatola	Mona	Setauket	Utilizing Social Media in the Classroom	2018-2019	\$76.23/hr.	3	\$228.69
Drosselmeier	Theresa	Setauket	Utilizing Social Media in the Classroom Utilizing Social	2018-2019	\$76.23/hr. \$76.23/hr.	3	\$228.69
Heal	Jessica	Setauket	Utilizing Social Media in the Classroom	2018-2019	\$10.23/hr.	3	\$228.69

Johnson	Suzanne	Setauket	Utilizing Social Media in the	2018-2019	\$76.23/hr.	3	\$228.69
Levy	Danielle	Setauket	Classroom Utilizing Social Media in the	2018-2019	\$76.23/hr.	3	\$228.69
Lewis	Patricia	Setauket	Classroom Utilizing Social Media in the	2018-2019	\$76.23/hr.	3	\$228.69
Megara	Michelle	Setauket	Classroom Utilizing Social Media in the	2018-2019	\$76.23/hr.	3	\$228.69
Panuccio	Debbie	Setauket	Classroom Utilizing Social Media in the	2018-2019	\$76.23/hr.	3	\$228.69
Тоор	Diana	Setauket	Classroom Utilizing Social Media in the	2018-2019	\$76.23/hr.	3	\$228.69
Vecchio	Jennifer	Setauket	Classroom Utilizing Social Media in the	2018-2019	\$76.23/hr.	3	\$228.69
Viviano	Theresa	Setauket	Classroom Utilizing Social Media in the	2018-2019	\$76.23/hr.	3	\$228.69
Wilkom	Michelle	Setauket	Classroom Utilizing Social Media in the	2018-2019	\$76.23/hr.	3	\$228.69
Wolcott	Valerie	Setauket	Classroom Utilizing Social Media in the Classroom	2018-2019	\$76.23/hr.	3	\$228.69
Curriculum V	Vriting:						
Guez	Rich	Setauket	Sixth Grade Science Curriculum (Part III) - Develop	2018-2019	\$49.07/hr	22	\$1,079.54
Gulino	Olga	Mount	curriculum for new science standards Sixth Grade Science Curriculum (Part III) - Develop curriculum for	2018-2019	\$49.07/hr	20	\$981.40
Nachtigall	Dawn	Murphy	new science standards Sixth Grade	2018-2019	\$49.07/hr	20	\$981.40
			Science Curriculum (Part III) - Develop curriculum for new science standards				
Safranek	Sue	Nassak- eag	Sixth Grade Science Curriculum (Part III) - Develop curriculum for new science	2018-2019	\$49.07/hr	20	\$981.40
Walsh	Dan	Arrow- head	standards Sixth Grade Science Curriculum (Part III) - Develop curriculum for new science	2018-2019	\$49.07/hr	20	\$981.40
Woods	Patty	Minne- sauke	standards Sixth Grade Science Curriculum (Part III) - Develop curriculum for new science standards	2018-2019	\$49.07/hr	20	\$981.40

APPOINTMENTS OF 2019-2019 SUMMER ASSIGNMENTS

Last Name	<u>First</u> <u>Name</u>	Building	Assignment	Effective	Rate	<u>Hours</u>	Not to Exceed
*Bermingham	Bethann	WMHS	Summer Rec, Sub- Nurse	7/8/19- 8/6/19	\$50/hr	Full Day	\$2,500.00
*Feldman	Nan	WMHS	Summer Rec, Sub- Nurse	7/8/19- 8/6/19	\$50/hr	Full Day	\$2,500.00
*Mayernik	Sue	WMHS	Summer Rec, Nurse	7/8/19- 8/6/19	\$50/hr	Full Day	\$13,500.00
*Trentini	Christine	WMHS	Summer Rec, Nurse	7/8/19- 8/6/19	\$50/hr	Half Day	\$6,750.00

^{*}Hourly rates are subject to change based upon recommendation at Reorg on 7/10/19

ESY Program

<u>Last Name</u>	First Name	Building	<u>Effective</u>	<u>Title</u>	Rate
Anderson	Melissa	Arrowhead	7/1/19-8/9/19	Teacher	\$300/day
Baum	Camryn	Arrowhead	7/1/19-8/9/19	Teacher	\$300/day
Fenigstein	Kathryn	Arrowhead	7/1/19-8/9/19	S/L Path	\$300/day
Hanft	Thomas	Arrowhead	7/1/19-8/9/19	Teacher	\$300/day
Oestreicher	Tammy	Arrowhead	7/1/19-8/9/19	Teacher	\$300/day
Perotti	Jenna	Arrowhead	7/1/19-8/9/19	Teacher	\$300/day
Prestia	Krista	Arrowhead	7/1/19-8/9/19	Teacher	\$300/day
Pulaski	Joseph	Arrowhead	7/1/19-8/9/19	Teacher	\$300/day
Savage	Harry	Arrowhead	7/1/19-8/9/19	Teacher	\$300/day
Tauby	Catherine	Arrowhead	7/1/19-8/9/19	S/L Path	\$300/day
West	Danielle	Arrowhead	7/1/19-8/9/19	Teacher	\$300/day
Salazar	Jose	Arrowhead	7/1/19-8/9/19	Psychologist	\$300/day
Arcuri	Maria	Arrowhead	7/1/19-8/9/19	TA	\$18.50/hr
Arcuri	Thomas	Arrowhead	7/1/19-8/9/19	TA	\$18.50/hr
Barone	Teresa	Arrowhead	7/1/19-8/9/19	TA	\$18.50/hr
Buehler	Catherine	Arrowhead	7/1/19-8/9/19	TA	\$18.50/hr
Buzzanca	Kathy	Arrowhead	7/1/19-8/9/19	TA	\$18.50/hr
Cannon	Marisa	Arrowhead	7/1/19-8/9/19	TA	\$18.50/hr
Damico	Tina	Arrowhead	7/1/19-8/9/19	TA	\$18.50/hr
DiCaterino	Isabella	Arrowhead	7/1/19-8/9/19	TA	\$18.50/hr
DeSantis	Christina	Arrowhead	7/1/19-8/9/19	TA	\$18.50/hr
Drosselmeier	Theresa	Arrowhead	7/1/19-8/9/19	TA	\$18.50/hr
Endres	Lisa	Arrowhead	7/1/19-8/9/19	TA	\$18.50/hr
Jekielek-	Lucyna	Arrowhead	7/1/19-8/9/19	TA	\$18.50/hr
Woznicki	•				
Kelly	Kelly	Arrowhead	7/1/19-8/9/19	TA	\$18.50/hr
McInerney	Alecia	Arrowhead	7/1/19-8/9/19	TA	\$18.50/hr
Portuallo	Jean	Arrowhead	7/1/19-8/9/19	TA	\$18.50/hr
Rizzo	Maria	Arrowhead	7/1/19-8/9/19	TA	\$18.50/hr
Roddin	Judi	Arrowhead	7/1/19-8/9/19	TA	\$18.50/hr
Rupe	Allison	Arrowhead	7/1/19-8/9/19	TA	\$18.50/hr
Russolillo	Grace	Arrowhead	7/1/19-8/9/19	TA	\$18.50/hr
Schecter	Susan	Arrowhead	7/1/19-8/9/19	TA	\$18.50/hr
Simpson	Brigitte	Arrowhead	7/1/19-8/9/19	TA	\$18.50/hr
Wennerod	Kristen	Arrowhead	7/1/19-8/9/19	TA	\$18.50/hr
Wilkom	Michelle	Arrowhead	7/1/19-8/9/19	TA	\$18.50/hr
Zoder	Regina	Arrowhead	7/1/19-8/9/19	TA	\$18.50/hr
Frantelizzi	Vita	Arrowhead	7/1/19-8/9/19	RR Teacher	\$300/day
March	Lee Ann	Arrowhead	7/1/19-8/9/19	RR Teacher	\$300/day
Propper	Kim	Arrowhead	7/1/19-8/9/19	RR Teacher	\$300/day
Substitutes					
Delorenzo	Heather	Arrowhead	7/1/19-8/9/19	Teacher	\$300/day
Gallagher	Alex	Arrowhead	7/1/19-8/9/19	Teacher	\$300/day
King	Joanne	Arrowhead	7/1/19-8/9/19	Teacher	\$300/day
Lauritsen	Eric	Arrowhead	7/1/19-8/9/19	Teacher	\$300/day
Levenson	Melissa	Arrowhead	7/1/19-8/9/19	Teacher	\$300/day
Ramos	Darla	Arrowhead	7/1/19-8/9/19	Teacher	\$300/day
Santiago	Vicki	Arrowhead	7/1/19-8/9/19	Teacher	\$300/day
Shook	Heather	Arrowhead	7/1/19-8/9/19	Teacher	\$300/day
Taraboccia	Christina	Arrowhead	7/1/19-8/9/19	Teacher	\$300/day
Cambria	Stacy	Arrowhead	7/1/19-8/9/19	TA	\$14.62/hr
Iannotto	Kim	Arrowhead	7/1/19-8/9/19	TA	\$14.62/hr
Warren-	Kathy	Arrowhead	7/1/19-8/9/19	TA	\$14.62/hr
Barbieri Wilcken	Cindy	Arrowhead	7/1/19-8/9/19	TA	\$14.62/hr

^{*}Hourly rates are subject to change based upon recommendation at the Reorg on 7/10/19.

TEACHER TENURE APPOINTMENTS

Name	Tenure Area	Effective Date 1 st year of Probation	Effective Date of Tenure	Certification
Buys, Megan	Mathematics	9/1/16	9/1/19	Mathematics 7-12 Initial
DiFede, Christine	Science	8/31/15	9/1/19	Extension General Science 7-9 Ext. Permanent Biology 7-12 – Professional Earth Science 7-12 – Permanent
Ennis, Jessica	School Counselor	9/1/15	9/1/19	School Counselor - Permanent
Geoninatti, Claudia	Foreign Language	9/1/16	9/1/19	Spanish 7-12 – Professional
Gobetz, Brianna	English	8/31/15	9/1/19	English Language Arts 7- 12 – Professional
Heal, Jessica	Reading	8/31/15	9/1/19	Literacy B-6 – Professional Early Childhood B-2 – Professional Childhood Ed 1-6 – Professional
Hein, James Levenson, Melissa	Music Special Education	8/30/17 8/31/15	8/30/19 9/1/19	Music – Professional SWD B-2 – Professional SWD 1-6 – Professional SWD 7-12 Generalist – Professional SWD ELA – Professional Ext. SWD Social Studies 7-12 – Professional Ext.
Meier, Brendan	Music	8/31/15	9/1/19	Music – Professional
Mulham, Corinne	Speech	8/31/15	9/1/19	Speech & Hearing Handicapped - Permanent
Porter, Cynthia	English	9/1/16	9/1/19	English 7-12 – professional
Rickmers, Tinamarie	Social Worker	8/31/15	9/1/19	Social Worker - Permanent
Shook, Heather	Special Education	9/1/16	9/1/19	SWD B-2 – Professional SWD 1-6 – Professional Childhood Ed 1-6 – Professional
Smit, Michael	Mathematics	8/31/15	9/1/19	Mathematics 7-12 – Initial
Visser, Jillian	Science	9/1/16	9/1/19	Biology 5-6 Ext. – Professional Biology 7-12 – Professional General Science 7-12 - Professional

On motion by Mrs. Gische, seconded by Mr. Kornreich, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Non-Instructional

Upon the recommendation of the Superintendent of Schools be it RESOLVED that the Three Village Board of Education approve the non-instructional personnel items as described in the schedules listed below:

RESIGNATIONS

<u>Name</u>	School/ Assignment	Effective Date	Length of
			<u>Service</u>
Anderson, Lauren	Monitor/ Setauket	4/10/2019	4 mos.
	Elementary School		

Ms. Anderson is resigning from her monitor position and has asked to be added to both the substitute TA list and the substitute monitor/SEA list.

APPOINTMENTS TO NON-INSTRUCTIONAL POSITIONS

Food Service Worker

Palamara, Elizabeth Part Time Food Service Worker

Ward Melville High School Replacing Heather Guise Salary - \$ 15.32/hr Effective: April 11, 2019

Ms. Palamara is currently a substitute food service worker. Fingerprint clearance has been received and is on file.

Guards

Brust, Albert Guard

District-wide New Position Salary: \$21.00/hr Effective: April 11, 2019

Fingerprint clearance has been received and is on file.

Fleming, Thomas Guard

District-wide New Position Salary: \$21.00/hr Effective: April 11, 2019

Fingerprint clearance has been received and is on file.

Geisler, Daniel Guard

District-wide New Position Salary: \$21.00/hr Effective: April 11, 2019

Fingerprint clearance has been received and is on file.

Perrino, Thomas Guard

District-wide New Position Salary: \$21.00/hr Effective: April 11, 2019

Fingerprint clearance has been received and is on file. Background check pending.

Pohmer, Reade Guard

District-wide New Position Salary: \$21.00/hr Effective: April 11, 2019

Fingerprint clearance has been received and is on file. Background check pending.

Pollett, Kenneth Guard

District-wide New Position Salary: \$21.00/hr Effective: April 11, 2019

Fingerprint clearance has been received and is on file. Background check pending.

Spata, Nicholas Guard

District-wide New Position Salary: \$21.00/hr Effective: April 11, 2019

Fingerprint clearance has been received and is on file.

CHANGES OF STATUS

Clerical

Heiberger, Madlyn From: 12 month Office Assistant (Step 9/Level 1)

To: 12 month Senior Office Assistant (Step 9/Level 3)

Business Services

Replacing: Rachele Re (retired) Annual Salary: \$50,499 (prorated)

Effective: April 29, 2019

Ms. Heiberger is being promoted to Senior Office Assistant in Maintenance & Operations due to the retirement of Rachele Re.

Slack, Holly From: 10 month Office Assistant (Step 9/Level 1)

To: "Acting" 12 month Senior Office Assistant (Step

9/Level 3)

Nassakeag Elementary School Replacing: Maritza Cottone Annual Salary: \$42,086 (prorated) Effective: March 27, 2019 – May 7, 2019

Ms. Slack assumed the role of "Acting" Senior Office Assistant at Nassakeag Elementary School in the absence of Maritza Cottone.

Food Service Worker

Kuffner, Susan From: Assistant Cook (Step 12/level 1)

Ward Melville High School To: Cook (Step 12/Level 2) Replacing Amy Wright Salary: \$26.81/hr

Stipend: \$3,600/yr (prorated) Effective: April 1, 2019

Monitors/Special Education Aides

Danks, Charles From: Special Education Aide (Step 1/Level 10)

Gelinas Junior High School

To: Special Education Aide (Step 1/Level 13)

Salary: \$14.42/hr Stipend: \$700 (prorated) Effective: March 20, 2019

This is a correction to the previous board approval on 3/27/19. Mr. Danks works at Gelinas Junior High School not Murphy Junior High School as previously approved.

Hull, Maryanne From: Special Education Aide (Step 1/Level 11)

Arrowhead Elementary School To: School Monitor (Step 1/Level 11)

Murphy Junior High School Replacing Ronald Kapps Salary: \$14.42/hr

Effective: March 18, 2019

This is a correction to the previous board approval on 3/27/19. Ms. Hull is a School Monitor and not a Special Education Aide and her level has changed to 11 from level 13 as previously approved.

APPOINTMENTS TO NON-INSTRUCTIONAL SUBSTITUTE POSITIONS

Monitors/Special Education Aides

Clark, Deborah Salary – \$13.00/hr

Effective: 3/22/19

Ms. Clark is currently on our substitute food service list and asked to be added to the substitute SEA/monitor list. Ms. Clark was approved by Ms. Pedisich for emergency appointment to begin working on 3/22/19.

Fingerprint clearance has been received and is on file.

Litka, Kayleen Salary - \$13.00/hr

Effective: 4/11/19

Ms. Litka is the daughter of Patricia Litka, an SEA at Arrowhead.

Fingerprint clearance has been received and is on file.

Prinzevalli, Michaela Salary - \$13.00/hr

Effective: 4/11/19

Ms. Prinzevalli is the daughter of Rachel Prinzevalli, reading teacher at Mount Elementary School. Fingerprint clearance has been received and is on file.

Sauve, Karly Salary - \$13.00/hr

Effective: 4/11/19

This position is contingent on both the background check and fingerprint clearance.

APPOINTMENTS OF HOURLY EXTRA ASSIGNMENTS

<u>Last</u> <u>Name</u>	<u>First</u> <u>Name</u>	Building	Assignment	<u>Effective</u>	Rate	<u>Hours</u>	Not to Exceed
Morabito	Bridget	WMHS	Chaperone-Ithaca College Choral Festival	3/22/19- 3/24/19	\$300/day, \$150/night	2 days, 2 nights	\$900.00

APPOINTMENTS OF RETURNING COMMUNITY SWIM PROGRAM EMPLOYEES

<u>Last Name</u>	First Name	Building	Assignment	<u>Effective</u>	Hourly Rate
**Cardno	Thomas	WMHS	Lifeguard, Step 1	4/11/19	\$13.00/hr

^{**}Mr. Cardno is currently a Water Safety Instructor with the district.

SUMMER ESY PROGRAM APPOINTMENTS 2019

Last Name	<u>First Name</u>	Building	<u>Effective</u>	<u>Title</u>	Rate
Baum	Taylor	Arrowhead	7/1/19-8/9/19	SEA	\$16.50/hr
Blatny	Ivana	Arrowhead	7/1/19-8/9/19	SEA	\$16.50/hr
Campo	Maria	Arrowhead	7/1/19-8/9/19	SEA	\$16.50/hr
Endres	Michelle	Arrowhead	7/1/19-8/9/19	SEA	\$16.50/hr
Ferreira	Nancy	Arrowhead	7/1/19-8/9/19	SEA	\$16.50/hr
Gabriele	Ashley	Arrowhead	7/1/19-8/9/19	SEA	\$16.50/hr
Krisa	Valerie	Arrowhead	7/1/19-8/9/19	SEA	\$16.50/hr
Marino	Amanda	Arrowhead	7/1/19-8/9/19	SEA	\$16.50/hr
Marino	Claudia	Arrowhead	7/1/19-8/9/19	SEA	\$16.50/hr
Marino	Zach	Arrowhead	7/1/19-8/9/19	SEA	\$16.50/hr
Maurer	Thomas	Arrowhead	7/1/19-8/9/19	SEA	\$16.50/hr
Novak	Eileen	Arrowhead	7/1/19-8/9/19	SEA	\$16.50/hr
Plate	Nicholas	Arrowhead	7/1/19-8/9/19	SEA	\$16.50/hr
Raio	Jacob	Arrowhead	7/1/19-8/9/19	SEA	\$16.50/hr
Raio	Luc	Arrowhead	7/1/19-8/9/19	SEA	\$16.50/hr
Rettig	Rosemarie	Arrowhead	7/1/19-8/9/19	SEA	\$16.50/hr
Cambria	Gabrielle	Mount	7/1/19-8/9/19	SEA	\$16.50/hr
Choonawala	Sakina	Mount	7/1/19-8/9/19	SEA	\$16.50/hr

AMENDMENT/REVISION

Clerical

Slack, Holly Status: "Acting" Senior Office Assistant

Amendment/Revision: Effective End Date Date of BOE Approval: March 27, 2019

Ms. Slack was approved on March 27, 2019 as an "Acting" Senior Office Assistant. This is a correction to her end date from March 22, 2019 to March 25, 2019.

On motion by Mr. Kornreich, seconded by Mrs. Gische, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Upon recommendation of the Superintendent of Schools be it RESOLVED that the Board of Education, through the administration, arrange for the provision of the appropriate special education programs and services for students enumerated in the report of the Committee on Special Education.

On motion by Ms. Ragolia, seconded by Mrs. Gische, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Recommendations of Committee on Special Education, Sub-Committee and Accommodation 504 Plan Meetings of: February 8, 12, 13, 25, 26, 27, 28, March 5, 6, 7, 11, 12, 13, 14, 15, 18 19, 20, 21, 25, 26, 27 and 28, 2019

Recommendations of Committee on Preschool Special Education Meetings of: March 19, 21 and 26, 2019 Upon recommendation of the Superintendent of Schools be it RESOLVED that the Board of Education, through the administration, arrange for the provision of the appropriate special education programs and services for students enumerated in the report of the Committee on Preschool Special Education.

On motion by Mrs. Gische, seconded by Ms. Ragolia, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

INFORMATIONAL ITEMS OF INTEREST

There were no Informational Items of Interest.

PUBLIC PARTICIPATION

Jessica Jones spoke regarding native gardening, environmental education, and outdoor time.

ADJOURNMENT There being no further business to be conducted, motion was made by Dr. Kerman, seconded by Mrs. Gische, and carried by a 7-0-0 vote to adjourn the meeting at 8:08 p.m.

Respectfully submitted,

Kathleen Sampogna District Clerk